A#fBERR

KEHILHERIRSE
1 % AT EEHR 1 8 SIRE K EMRIE
M 4 BH ERE2657RA17H B #L BF il 13:16
R AL & Fr =RETRIG 5028 8=
ZEtEE (M) FE fi4& (M) IS HIRR{E#E (M)
18,600,000 18,600,000 16,397,849

ES =1 %

F1EALLE (F)|FE2EmAHLE (A) ] %

1 |ARE HMIUKEIER 18,400,000 HEHL
2 X2t FFT7A 18,900,000
3 |t FEHKEIXRAR 19,999,000
4 |AR= HKHARE 20,400,000
5 |AlR=# ESHEHRMEIEMR 20,508,000
6

7

8

9

10

11

12

13

14

15

i




A#fBERR

KEREILHERIRE
# AELE1745HREKEMRIE(1IX)
(5 265 7R17H 57 AL B 15:00
5 =HHTRIG 502& M=
xEtEE () FE M) B 1K 1l BR {fi 4% (F)
18,500,000 16,326,661
F1RIAALE (F)|FE2EAFEE () ] %
1 18,500,000 AL
2 FEILJKIE T % 18,800,000
3 B I8 22,500,000
4 B®iE 23,528,000
5
6
7
8
9
10
11
12
13
14
15
i




AW #HERRE

KERBIEHERRE
s % AHELE1745REKERTRIE(CIR)
F # B FR2657RA17H 57 AL B 13:54
Bl AL 3B AR S AT 502K ME
sxEtEE (M) FE M) B 1K 1l BR Hi 4% (F1)
12,400,000 12,400,000 10,927,481
E 3 & % FE1EAHEE (F)|[FE2EAFEE (A) i %
1 (AR=# BH#HRE 12,390,000 EHL
2 |X=tt FFT7A 12,500,000
3 |ARBR=# BMIUKEIEMR 13,500,000
4 |AB=# SHEBREIEMR 14,318,000
5 |t A4BEIEMR 15,240,000
6 |HREH TILTHREIE E3h (RENRETH)
7
8
9
10
11
12
13
14
15

]




